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Attempt any five question in all selecting one question. from cach wnel.
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No supplementary Answer book will be given 1o any candidate. Hence the candidates should write their ansuers

precisely in the main answer book only.
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All the parts of one question should be answered at one place in the answer-book. One complete question should

not be answered at different places in the answer book.
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Write your roll number on question paper before start writing answers of queslions.
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UNIT -1 /SRt - I

1. Define ‘Budget’ and ‘Budgeting’. Discuss its advantages and limitations. 6+8+6
TS’ wd este’ s g e saek @y ud drmei w1 fasam wifs)
OR / 37t

From the following particulars prepare a flexible budget for Ananya Ltd. showing the estimated sales. 20

costs and profits at 60%, 80% and 100% activity. (This company is working at 50% capacity)
a0 fe1. < ferg foret gemedi @ 60%, 80% T 100% frameiierar T srmf fas, AMd Ud T S 8
ENS T SR FFAC| (T2 HIH 50% foRareiierar W s o @ ¥))

Fixed Expenses 4 Variable Expenses (at 50% activity)
Management Salaries 4,00,000 Materials 12,50,000
Rent and Rates 3,00,000 Labour 13,00,000
Depreciation on Machine 3,50,000 Salesmen’s Commission 1.90,000
—
Sundry Office Cost 4,50,000 _27.40.000
15,00,000
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Semi Vari
mi Variable €Xpenses (at 50% capacity)

4
Plant Maintenance 1.50,000
Indirect Labour 4,70.000
Salesmen's Salaries 1.45.000
Sundry Expenses 1.48.000

9,13.000

7 ity:increase by
/ res 7 60% and 70% activity: 111CI'€
Semi-variable expenses increase by 10% of the above figures between ’ ,ev .
15% of the above figures between 70% and 85% activity and increase rw . a~ e et
between 85% and 100%. Fixed expenses remain‘constant whatever be the level of ac . mo. e
7 % /ity are . .
60% activity are ¥ 58.00.000: at 80% activity are ¥ 70,00,000 and at 100 mn:MH v Jv: o
. - - “TT oz z. 7 70% T 5%,
S - IRadTwia =99 60% TE 70% fEARiean & 991 ITHF Sl A 10% T7a T Fg T0% T .
7 T 3 3T T T S o, TEZd
Ferameiveran & HeA 3w st 9 15% 9gd € 9 85% A 100% FRAmTerd & 7e1 3795 w31 9 207 7%
¥\ fer omm franiea % fed off T8 @ 399 B @A 21 60% EANEE 97 T T 55 00,0000 20%
forameieral @ fasnt € 70.00,000 T 100% fFamiea 72 fast T 80,00.000 2 |

UNIT - 11/3aTE - 1]

; imi S +8+8
Define Business Forecasting. Discuss its importance and limitations. 4+3
eI [EAE ARt Ffe | s gew vE Hansi w7t w5

OR / 31ar
“A forecast is nothing more than an estimate of future conditions.” Explain. Dizcuzs the vay
techniques of Business Forecasting.
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UNIT - 11/ Z&hTE - 1]
ibe the various methods of preparing Cash By
A F fafa= fafedi @7 g0 EaEes

What is meant by Cash Budget ? Deser

dget. 14+16
s a1 1 71 sifurym 27 UAhg a1e

OR / 3terary
Find out the following Material Variances :
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4+4+4+4+4
(1)

Material Cost Variance

T AT fererm

Material Price Variance

Il gea faemm

‘) Material Usage Variance
T 39 famrm

V' Material Mix Variance

=T fagm faemo

Material Yield Variance
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Standard Actual . '
Qv Price Amount j Qtv ‘ Price | ‘\m:unr
kg e ) ) 1 (kg N i el
X 120 3 L 800 112 500 560
20 10 s00 a8 10 !_ S8R0
200 1300 200 ]f IR
Less 30% ! G0 C(23%) 30 !
QOutpur | 140 , | U R )
UNIT-IV /g&T8 -1V
Explamn the nature and significance of Kev Factor . How product mix deci=ions influenced byt ? 10+10
T EE W TS @ e § wnwEn e frsm for3 798 g g ganfyg 8@ &0
OR / 3Tar
A manufacture 1s plannming to drop one 1tem from his product hine and replace 1t with another. His 20

S S 1 tdataare as follows
present cost and output data are as follc
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[tem Price ® | Variable Cost peratem () ; Percent of Total Sales Volume ("0
2 | 20 | 10 i 10
B E 25 15 | 35
. 18 | 25

The fixed costs peryvear:3 1.50.000

Total sales of last year - ¥ 5.00.000

e changes under consideration consists in droping the product C

schange is made the manufacrures foreca

& ol

and veplacing 1t with product D. If
sts the following cost and output data -

Ttem ;Price (?)i Variable Cost per item (3)

Percent of Total Sales Volume (%)

A | 20 | 10 | 30
B 25 15 | 30
D 28 14 ; 20
Comment upon the plan of the manufactiiter.
P.T.o
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UNIT-V /&3 -V
Wh : . s teasibili
r 1 _; do vou understand by Feasibility study ? Discuss different aspects of Technical Feasibility 545
Analysis. -
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OR /7 3¥gam

Calculate Weighted Average Cost of Capital from the following information Ly

fr=fafea Y 9 gsit =1 sifta siad @ 3| sifs |
T

5.000 Equity Shares(fully paid up) 5.00.000
1.000 6% Debentures 4.00.000
3.000 6% Preference Shares 3,00.000
Retained Earnings . 2,00,000

Earning per equity share has been Z 10 during the past year and equity shares are being sold in the

market at par. Assume corporate tax at 50 percent and shareholders’ personal tax liability 10%.
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